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B [ TiE B A 42 48 90 19, 2 70. 8 36 52 { | Hiam 44 48 92 15.6 76. 4 41
HEOE S | fR S E— 44 44 88 16.8 71,2 28 53 {r [BFik Ak 44 47 91 14.4 76. 6 38
3 47 |fadh ¥ 39 42 81 9.6 71. 4 6 54 fir |MFA {= 43 48 91 14. 4 76.6 38
4 fir |EAR HIS 48 44 02 20.4 71.6 41 55 {ir | ¥ A & 43 46 89 12.0 77.0 31
5 fir &4k B 43 42 85 13.2 71,8 20 | 56 { |2 A 56 44 100 22,8 77.2 64
6 {7 EH R 35 36 71 -1.2 72,2 1 57 fr i Hi g FHEE 58 48 106 28, 8 77.2 80
7 r iEH 39 38 77 4.8 72.2 2 58 (i |SHE 1Y 53 53 106 28.8 77.2 20
8 f |fkik 3 42 41 83 10.8 72.2 15 59 (r | m+kE & 39 42 81 3.6 77.4 6
9 fr [P 5] 40 49 B9 16. 8 72.2 31 60 fir [HE ) sE¥ 46 47 93 15. 6 77.4 46
10 {f |$0F fi1— Bl 42 40 82 9.6 72.4 11 61 fir | T3k #H— 49 50 99 21,6 77.4 62
11 {f |#% #&5] 45 43 88 15.6 72.4 28 62 fir |'S4 8% 50 42 92 14.4 77.6 4]
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14 {if [AH E— 41 40 81 8.4 72.6 6 65 fir f 4k B 50 53 103 25,2 77.8 75
15 fir |IW B 43 43 86 13. 2 72.8 21 66 {7 ifERRh E— 51 45 96 18.0 78, 0 54
16 fr 1.1l s 48 50 98 25,2 72.8 59 67 {7 A 3 40 43 83 4.8 78. 2 15
17 fu iwpm B 41 ag 79 6.0 73,0 3 68 fir [lBM =4 50 45 95 16. 8 78. 2 51
18 {r {AE M M 43 42 84 10. 8 73,2 17 60 4 (KR AzEF 56 45 101 22. 8 78.2 72
19 {v | ¥\ 49 47 96 22.8 73.2 54 70 fif |38 T 51 49 100 21. 6 78. 4 64
20 {v | 7 46 43 89 i5.6 73.4 31 71 fr | ¥ B 58 59 117 38. 4 78. 6 90
21 {ir |RH BE—pR 45 50 95 21.6 73. 4 51 72 frlEH B ' 45 4] 86 7.2 78.8 21
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32 4y | Ea4E Fodk 40 42 82 7.2 74.8 11 83 {v -l BRI 47 49 96 15. 6 80.4 54
33 {ir |FEIR _{hik 43 44 87 12.9 75,0 25 84 {ir |MHA, ILF 50 45 a5 14. 4 80.6 51
34 i | WG B 44 49 93 18.0 75.0 48 85 fir | WF A 56 53 109 27.6 81,4 85
35 {f A BT 49 50 99 24.0 75.0 62 86 fir |WrAx FH 50 58 108 25,2 82.8 83
36 (v (R0 JHE 39 41 80 4.8 75. 2 5 87 fir | n M 48 52 100 16.8 83.2 64
37 {y {EBJR IE 44 42 86 10.8 75. 2 21 88 fir |k FT 55 51 106 22.8 83.2 80
38 fr | iR f&E 43 43 86 10. 8 75.2 21 89 {1yt B JEHI 49 54 103 19.2 83.8 75
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41 fir | BEQE BE7E 47 44 91 15, 6 75. 4 38
42 fr |8 EE 45 52 97 21'6 75.4 58
43 fir |AM gH= 49 54 103 27.6 75. 4 75
44 fir |EAH, #W— 41 43 84 8.4 75.6 17
45 fir |Hi) B 45 45 90 14, 4 75, 6 36
46 {7 [#E M Tl 5] 51 142, 26, 4 75.6 74
47 (L i—AfR HT 41 48 89 13. 2 75.8 31
48 { ifpA ¥ 50 50 100 24.0 76,0 64
49 fr 1K % 40 41 81 4.8 76,2 6
50 {i | SR I 45 48 93 16.8 76. 2 46
51 {7 |BY &R 45 48 93 16.8 76,2 46




